Puzzle 4
[bookmark: _Hlk74084206][bookmark: _GoBack]The plane we are currently on is with a mass of 0.8 t. Using the information about the craft from the previous puzzles calculate the kinetic energy of the plane. Your final answer has to be in MJ. The answer will lead you to the next puzzle. Look for 3 similar items inclosed together somewhere in the room. Find the item correspondant to your group. All of them contain the number from the correct answer. 
Answer: 
They have to use the formula: Ek=m.v2/2
Given: m= 0.8 t (800 kg); v=1000 km/h (from the previous puzzle)
Ek=m.v2/2=> Ek= 800 kg.1000 km 2/2= 400000000 J => 400 MJ
400 MJ is the hint to the next puzzle. 

